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(kHz)

3 - 30 (VLF)
(10-100 km)

30 — 300 (LF)
(1-10 km)

300 — 3000 (MF)

(100-1000m)
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R

(MHZ)
3-30 (HF)
(10-100m)
30 — 300 (VHF)
(
300 — 3000 (UHF)

(
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GPS



(GHz)

3 — 30 (HF)
30 — 300 (VHF)
300 — 3000

0.1—-1mm
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|

(THZ)

43 — 430
(7 —0.7 um)

430 — 750
(0.7 —-0.4 um)

750 — 3000
(0.4 — 0.1 um)

kHz = 10° Hz, MHz = 10° Hz, GHz = 10° Hz,

THz =102 Hz, mm =103 m, um =10°%m
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] 2MHz
u

XN
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R

D 60 ~ 80 km
= 100 ~ 120 km
OF 150 ~ 400 km

mb, 140 ~ 200 km
mb, 250 ~ 400 km
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BT

60 300 km
4000 km
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R

O > 30 MHz
O] . d2 +r2 =(h+r)?,
d=+I2+2rh~+/2rh
h ~ D2/50 (m)

REXK

D km
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B

m HAPS(High Altitude Platform Station)
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10—

(dB/km) o1l

0.01—

0.001 |—

0.0001 |~~~

0.00001 | | |
1 10 (GH2) 100 350 1000

100
10

(dB/km)
0.01

0.01

0.0001 l ]
1 10 100

(GHz)
(b)
145
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Ry

O . 30 ~60 MHz
] © 100 ~ 4000 MHz ﬁ”**‘//\w‘*
|

0 :30~100 MHz 140
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t: E ‘.‘“__ ! .. .1.-

b ol .:: (i 14 h__.
_. ﬁ*.r___. :_.!.__1,_,_,..___3 .

... ‘_. : __r._
D& 7
iﬁ.ﬁtﬁ.ﬂ\\m‘g\\
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(kHz) (km)
1+3 0.3 27 300
1+3+12 0.3 150 120
24 12 108 35
60 12 252 12 18
300 60 1300 8
960 60 4100 4
1 800 300 9000 6
2 700 300 12000 4.5
10 800 300 60000 1.5




I i
| —1_ 125~400 pm
'_T_._ )
] 2a 50-200 pm
4 _ | =)
Y onon - -1
I "
; 125~140 um
P— (aR)
2 50~100 um
N 1)
v SR RS T
10 131[ um 1.55 I},LI'T'I
r E
= 1 i
= !
W :
® !
0.7 0,9 1.1 1.3 15 1.7
nm
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&(t)

&(t) =1 [g(t)] +n(t)

&(t)

€(t)

n(t) &(t)
fla)]
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R

T e ] k(t) &;(t)
€, (t) = Kk(t) &(t) + n(t)
k(t)
k(t)
k(t) = () ()

k(t)= () ()
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P(0/0)
0 0

w P(1/0)
1 1

P(1/1)
P(0/0), P(1/1)

P(0/1), P(1/0)

P(0/0) = 1 - P(1/0)
P(1/1) = 1 - P(0/1)

2
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(ap)

0 | | f (Hz)
300 3000

2006-11-30 2



2006-11-30

7 (w)4

N

. ¢(w)=Ko;
T (o) = dep(w)/dw =k
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Ry

H
A COS gt n
R (1)

R(1) = Y 1,(1)c0s @[t - 7, (1] = D 1,(t) cosf @t + g, (1)
SONE. _
T; (1) i
¢;(t)=-0y7 ()

R(t) = Zn: . (t) cos ¢, (1) cos w,t — Zn: r.(t)sin ¢, (t)sin w,t

X (t) X (t)
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R

R(t) = X (t)coso,t — X (t)sSnw,t =V (t)cog w,t + ¢(t)]

V(1) R(t)
(1) R(t)

V(1) = /X 2(1) + X 2 (1)

_ X (1)
¢ (t) = arctan X (1)
® (M) @i(t) Xc(t), Xs(t)  V(1), o(t)

R(t)
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B

R(t) = V(t)cod o, t+ ¢(t)]

A cos ot
x A V(t);
* 0 o(t)
ﬂ\ » /’\H\ﬂ\\\ //,
il
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R

[ |
f(t) af(t-t,) af(t- ty- 1)
Flw)  Ise™ly
{(t) < F(o) 2
af(t - 15) < a F(w) elew
af(t - 15 - 1) © a F(o) el oI @m  m & o

af(t - 1y) + af(t - 1, - 1) © a F(o) elow (1+elor)
» H(®) = a F(0) e1ow (1+el1*7)/F(o) = aelow (1+elor)
|1+elot| = |[1+coswt-jsinot|=|[(1+cosmt)2+Ssin2mt] 2]
=2|cos(wt/2)|
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